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Introduction to BMat 7v P3Pn TN — van g

With the completion of the fourth 719, we have finished our major inquiry into the impact of nawnp and moved to the procedure of 3797 wwyn. The
first issue to establish is the hierarchy of 11277 and the proper location of their performance — and our 779 is fully dedicated to that. A number of
seminal issues dealing with the system of hermeneutics, so central to o?¥7j7, are presented here.
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I 2-x mwn: category of nwTp *W7p have NV NY in oy
a K mwwp "1y Y YW 0718 have nv'nw in north, n%ap in N7 *93 in north, o7, each ninn which is 25yn, goes:
i owIpn w771 “between n11” — 8 each
ii 59272 on noMa (8 each) and on antn nam — either 4 each or 4 mixed + 7 nam Yw 1700 Yy
iii  pinz ©7Y go on »a7yn M’ — but this isn’t 20yn
b 2 mws oI WYYV DIV DNA(X YT D5Yi7 79,079 79, I’V >1YY) are same as above, except for 0’710 Pa DNT INN
¢ In both cases: the rest of the animal is burnt on 910 na
I Analysis:
a  Question: opening line should add naxa nbap
i Answer: our list of 7"p7p will include y1¥n DR, some of which is taken by 103 by hand (v. 2)>can’t list in title
ii  Challenge: 'n nwn lists y11¥n WX and notes n1w *Y21 nYap
1 Answer: since it’s not fully *933, can’t list here; since it's mainly 933, is listed there
(a) Per: resolution of vv. 1-2; nrond (v. 1) indicates *93; 101 (v.2) indicates 72
(b) Resolution: need 2 0113 — 1 does "1 nYap, other 12
b Question: since Nay is written explicitly in re: n'%w (v. 3), why not begin there?
i Answer: since we infer nRon via nw77, Rin “prefers” that — and he “prefers” nnna mron as well, begins there
ii  Question: N9y is stated in re: 18 (v. 3 — the 2" 1wIa of nNam nYY); how do we know to apply it to Ipa (1% nw19)?
1 Answer: the ¥ connects 2" nwAa to 1¢t — latter text informs earlier one
2 Challenge: this is only valid according to 7"n that we can infer “up” with a connecting 1; %0 PR 7/0%...7
(a) Context: y™ extends "9n nwR to n?yn (previous NWI9) = M»PN PAL is NYN DYWR 17N; D'NIN exempt
(i) Assumption: disagreement is whether connecting v (v. 5) allows “upward” inference
(if) Rejection (979): all agree that we can allow “upward” inference (nnnn V5 )
1. Dispute: 1327 see W’y of mxn:nNxn with ny1ap nkon as defining — %N nwWR only brought in doubt
of violation of those sins which, if clearly transgressed, carry n»ap nron —(n%yn it out)
a. y”1 accepts v"1, uses it to block out wTpn NrRMY (1117 1Y NRYVN)
b. a7 can’t accept w”n halfway
(iii) Suggestion: perhaps they disagree whether wp»n (via ) or w1 is “stronger”?
1. Rejection: all agree that wp>n is stronger
a. 227 vmused to teach value of DWR (2 YY) from M»yn DWR (“down-inference” from v. 4)
i.  Preempting: argument that it can’t be more expensive than nyap nxon
b. 7 infers this from v. 7 — all mnwx are alike
i.  Challenge: not everyone reads v. 7 as generating an “umbrella”
ii. Answer: infer from common word 72731 (v. 6 and v. 4 — and in several other mnwR)
iii. Question: what about n9n NnNaw nwx (no “727y”)?
iv. Answer: common word 2R (v. 8) connects to other mmwr - 2 nyHo
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